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@ (a+b)? =a®+ 2ab + b?
@ (a-b)? =a®-2ab+b?
® (a+b)(a-b)=ad>-b?

@ (x+a)(x+b)=x>+(a+b)x+ab

® (ax+b)(cx+d) = acx* + (ad + bc)x + bd
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(5x — 6)(4x + 3) = XN 422
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@D 20x2% +2x-18 @ 20x% 4+ 4x-18
@ 20x% +6x—18 @ 20x2-9x+ 18

® 20x2 -9x-18



DO (x+3)2=x*>+9
IR 1
@ (x-3) —#-gr+7

@ Bx+1)2-2(x+1)(x= 3)=7x2+10x+7
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@ (a+5) (a-5)=a+5

® (3x+5)(2x-7) = 6x2 + 31x— 35
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6. axb=(a+b)’ 22 HAT W, 2x (-y) +xx2y 5 5] SR

@ 2x% + 2y? @ 3x% + 3y? @ 4x% + 4y?

@ 5x2 + 5y? ® 6x2 + 6y?



@ 2 ® 3 @ 4 ® 5

D1
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10. 2x+a)(bx-3) =82+ cx- 9L W, FFa, b, cSFa+b+c
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@ 94 % 86 ® 28 x 31
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12, 24+ D224+ 1)(244+1)(28+1) = 294+ b 14 a-b 9] & F5lodzt.
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